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PSEB SAMPLE QUESTIONS

1. Function 'f:RrarrR,f(x)=3x-5'"is :

A.one to one

B. onto only


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_kY2YMCbIcg5B

C.one-one and onto

D. none of these

Answer: C

o Watch Video Solution

2. Relation given by 'R={(1,1),(2,2),(2,)} is :

A. reflexive only

B. symmetric only

C. transitive only

D. equivalence relation


https://dl.doubtnut.com/l/_kY2YMCbIcg5B
https://dl.doubtnut.com/l/_gUIeBzewAn19

Answer: D

° Watch Video Solution

3. cos™(-1)(-cos((2pi)/3))' is equal to :

A. pi/5

B.-(2pi)/3

C. (pi)/2

D. (pi)/3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_gUIeBzewAn19
https://dl.doubtnut.com/l/_5NjuwqMy6qFP

arr| D 7T 21 P | then value of e
. — 4 —3 eén valueorx iIs:

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5NjuwqMy6qFP
https://dl.doubtnut.com/l/_R9Fed9aKUMRv

5. If order of matrix A is 2X3 and order of matrix B is

3X5 then order of matrix B'A' is :

A. 5X2

B. 2X5

C.5X3

D. 3X2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qMfHI1tWA2Ko

6. If 'f(x)= {[Kx+1xle5],[3x-5,x>5]:} is continuous at x=5

then value of k is :

Answer: A

o Watch Video Solution

d
7._ t _1 z i It .
dm{ an~'(e”)} is equal to


https://dl.doubtnut.com/l/_pLMuQJT3rrgU
https://dl.doubtnut.com/l/_T6c63ultbLbg

A. e*xtan”(-1)e”x

B. (e”x)/(1+e”(2x)

C.0

D. e"x sec”(-1)x

Answer: B

o Watch Video Solution

8.Slope of tangent to the curve 'y = x"*2-2x+1" at x=3 is

A 4


https://dl.doubtnut.com/l/_T6c63ultbLbg
https://dl.doubtnut.com/l/_muCW7vFDyncp

B.6

C.0

D. 2

Answer: A

° Watch Video Solution

9.int3x"2dx' is equal to :

A. X+

B. x"2+c

C.x"3+c


https://dl.doubtnut.com/l/_muCW7vFDyncp
https://dl.doubtnut.com/l/_xdI4cgHfKLSO

D. x*4+c

Answer: C

° Watch Video Solution

1

. L,

2 sin? )

10./ - dx is equal to :
0 sin2x + cos2 x

A.0
B. (pi)/2

C. (pi)/3

D. (pi)/4


https://dl.doubtnut.com/l/_xdI4cgHfKLSO
https://dl.doubtnut.com/l/_d9h7OEeNArc8

Answer: D

° Watch Video Solution

. _d%y dy .
11. Degree of differential — —2( — | + 3y = 0is
dx dx
A3
B.2

C.1

D.O

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_d9h7OEeNArc8
https://dl.doubtnut.com/l/_QA1tzJDi334W

_>

%
2.Fa - b = b

, then angle between vector
@ and vector b is :

A. pi/2

B. pi/6

C.pi/4

D. pi/3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QA1tzJDi334W
https://dl.doubtnut.com/l/_laMcOY8rpOkG

13.0f o 7 = 0 then angle between vector veca and
vecb is:

A. pi/2

B. pi/6

C.pi/4

D. pi/3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6SnPRACsz40R

14. Direction ratios of line

x—1_2y+6_1—z
s =13 - % are :

A. 1t3,12,7gt

B.It3,6,7gt

C.1t3,6,7gt

D. It3,6,7gt

Answer: C

given

by

line

o Watch Video Solution



https://dl.doubtnut.com/l/_7c2ENqfHGM9O

15. Maximum value of Z = 3x + y for the constraints

r+y<4zxz>0y=>0is:

A 12

B. 16

C.4

D.10

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_kjlty2V63Chu

1

16. If P(A) = -, P(B) = - and P

=3

then P(A/B) is equal to :

A. (2/5)

B. (3/15)

C.(2/3)

D. (5/8)

Answer: B

3
8

(AN B)

5

° Watch Video Solution

17. Value of sin™-1(1) is



https://dl.doubtnut.com/l/_B3QA0fYI7aMG
https://dl.doubtnut.com/l/_Sllkh0tXkoYy

‘ o Watch Video Solution

18.1f A = [aij] 3 such that a;; = i + jthen a 11=

2 X

o Watch Video Solution

z 0 3 0
19. If =

7 1 7 1‘thenx=

o Watch Video Solution

20. If 'y=cos x ' then at'x=0', 'dy/dx=..........".

o Watch Video Solution



https://dl.doubtnut.com/l/_Sllkh0tXkoYy
https://dl.doubtnut.com/l/_Ah3cYdytgWUH
https://dl.doubtnut.com/l/_cGrCjTV4f7y1
https://dl.doubtnut.com/l/_cPSKvMhEJDkb

21.int_0"5f(x) dx=........ '

° Watch Video Solution

22. Order of the differential equation '(d"2y)/(dx"2) -

((dy)/(dx))+y=0'"is ...coveee. .

o Watch Video Solution

23. Direction ratios of a line which is perpendicular to

the plane '3x-y+2z=9' are ............ .

o Watch Video Solution



https://dl.doubtnut.com/l/_cPSKvMhEJDkb
https://dl.doubtnut.com/l/_6Z5J23p4TrtU
https://dl.doubtnut.com/l/_mKjEvespjycZ
https://dl.doubtnut.com/l/_B2dgEi6WoSbG

24. Probability of occurrence of impossible event=

o Watch Video Solution

25. If A is a square matrix then '(A-A) is a skew-

symmetric matrix.

° Watch Video Solution

26. If 'y=10x' then 'dy/dx=0'.

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_B2dgEi6WoSbG
https://dl.doubtnut.com/l/_YioGV3WyIe32
https://dl.doubtnut.com/l/_SWPzxHmrf0YN
https://dl.doubtnut.com/l/_2FpswHQRRVO6

27.1f 'y=tan x' then 'dy/dx=sec”2x".

o Watch Video Solution

28. Prove that /2:cda: =z’ +c

° Watch Video Solution

29. State true or false : Scalar product pf two

perpendicular vectors is zero.

° Watch Video Solution



https://dl.doubtnut.com/l/_2FpswHQRRVO6
https://dl.doubtnut.com/l/_5RVvH87YOleA
https://dl.doubtnut.com/l/_YB7A3Fmrc7Ky
https://dl.doubtnut.com/l/_aDvAx67wePOM

30. Point (3,-4,2) lies in the plane 2z +y — 2 =0

° Watch Video Solution

31.1f P(E) = 0.05 than find the value of P(NotE) ?

o Watch Video Solution

32.1f '[[2,3],[1,4]]' and 'f(x)=x"2+2x+3' then fond 'f(A)'".

° Watch Video Solution



https://dl.doubtnut.com/l/_aDvAx67wePOM
https://dl.doubtnut.com/l/_iceyDhw6okfc
https://dl.doubtnut.com/l/_OElZGt8jByHc
https://dl.doubtnut.com/l/_UUbP7ESBTQwq

33. Find the interval in which function 'f(x)=x"2+2x-7'

Is increasing.

o Watch Video Solution

34. Find the slope of the normal to the curve

y = 2> — z + 1 at the point whose x- coordinate is

2.

o Watch Video Solution

1
35. Evaluate /9’” (logw + ;)dw.

[ ° wAr_o_ L vl e~_ .. ]



https://dl.doubtnut.com/l/_c4sk7TsVgrts
https://dl.doubtnut.com/l/_4YIxllcwxlrf
https://dl.doubtnut.com/l/_1TAnmsbm2JQO
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36. Evaluate 'int x sin x dx'

o Watch Video Solution

37. Using integration find the area bounded by the
parabola 'y"2=4x" straight lines 'x=1', 'x=4' in the first

quadrant.

o Watch Video Solution



https://dl.doubtnut.com/l/_1TAnmsbm2JQO
https://dl.doubtnut.com/l/_M1sSrumsWBiM
https://dl.doubtnut.com/l/_qBqf0nOk32xJ

38. Find the unit vector in the direction of diagonal of
the parallelogram whose sides are given by the

— 4 ~ ~, 7 2 A >
vectors a =21 — 7 —3k’, b =51+27—k

° Watch Video Solution

39. find the value of

2tan | = | +cos [ = | + 25001 2
an % COS % secC ﬁ

° Watch Video Solution

. d
40.1f y = ™" + (sinz)” then find d—y
T

| e |


https://dl.doubtnut.com/l/_wFT15JE5HudL
https://dl.doubtnut.com/l/_iosBfS1mhqkG
https://dl.doubtnut.com/l/_TKofnumuPuLE

| hd Watch Video Solution J

41. |If y:[tan_lzc]2, then prove that

(:z:z + 1)2y2 + 2:1:(:1:2 + 1)y1 = 2.

° Watch Video Solution

SGC2 Wi

42, EvaIuate/ dx.
tan?xz — 4tanx + 7

° Watch Video Solution

43. find the general solution of the differential

equation {a:2dy — (a:z + xy + y2) }dw =0


https://dl.doubtnut.com/l/_TKofnumuPuLE
https://dl.doubtnut.com/l/_nGVeg7nGUonC
https://dl.doubtnut.com/l/_wOX9ScldlOJf
https://dl.doubtnut.com/l/_GqCkRpLEdM9J

° Watch Video Solution

44. find the general solution of the differential

equation sec® z tanydz — sec’ ytanzdy = 0

° Watch Video Solution

45. Bag | contains 3 red and 4 white balls. Bag Il
contents 7 red and 5 white balls.A bag is selected at
random and a ball is drawn from it which is found to
be Red. Find the probability that balls is drawn from

bag II

o Watch Video Solution



https://dl.doubtnut.com/l/_GqCkRpLEdM9J
https://dl.doubtnut.com/l/_X8z6Rk5nF77f
https://dl.doubtnut.com/l/_KoeOdGmnMZO8

46. solve the following system of linear equation by
Matrix method:

2¢ +3y—56z=13,z —y+z2= —2,3x+2y —2=28

O Watch Video Solution

23 5
47. Express A=|0 2 9|as the sum of a
3 2 8

symmetric matrix and skew- symmetric matrix.

o Watch Video Solution



https://dl.doubtnut.com/l/_KoeOdGmnMZO8
https://dl.doubtnut.com/l/_3xjApDZwcNT3
https://dl.doubtnut.com/l/_2P8zk7m3Uu2K

48. find the shortest distance between the lines

— 4 A -

r:62—3+3k—|—)\( 3j—|—2k) and
i —

$:9€+3—4l%+u( ]+k)

o Watch Video Solution

49, find the foot of perpendicular drawn from the

point (2,-3,5) on the plane 3x + 4y — 2z = 20

o Watch Video Solution

50. solve the following linear programming problem

graphically: Maximize and minimize Z = 4z + 3y


https://dl.doubtnut.com/l/_7cDgEWwIzzDn
https://dl.doubtnut.com/l/_K1iHbW4tueSE
https://dl.doubtnut.com/l/_hvBdFN8bLuNz

subject to the constraints:

r+y<8de+y>8x—y>0x>0,y>0

° Watch Video Solution

51. solve the following linear programming problem
graphically: maximize and minimize
Z =5x + 2y —2) subject to the constraints

c+y<10,z4+y>3,z<8,y=>8zxz>0,y>0

o Watch Video Solution



https://dl.doubtnut.com/l/_hvBdFN8bLuNz
https://dl.doubtnut.com/l/_4cr21mZDNQ3p

